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a4t 7v7 FITT

1. (a) Which are the following true or false (any five): [5]
T 6 e 3 @ B § a s s § (@ )

(1) If the main column of a truth function contains all false, then it is contradictory.
e T AR & T HOG § G4 I 2 A G T AR ATE 8|

(i) Truth table method is a method to determine the validity or invalidity of an
argument.

T wielt ARy gl o duar serar sdver PR wv @ @ o

(i)  When the antecedent is true and consequent is false the truth function of
conditional statement is false.

W9 ot 6 &) 3R S e 8 ot Wilel BU BT W IR ey B |

(iv)  Tautologous statement forms are statement forms that are logically true.

JIHUT THAR MBR 4 dhaed & o afds w7 Q 9 81 &

(v) If one of the conjuncts is false the conjunction is true.
Tfe v HAT WISy 3G & Al WA 9 8 |
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(b)

(vi) A decision procedure is a method to determine the validity or invalidity of an
%egﬁﬁﬁgﬁﬁﬁéwawmﬁufﬁawaﬁWM%

(vii)) A categorical syllogism always has two premises.
TS e rgfad # wer | smuRare B §

Fill in the blanks (any five): [5]

R =l & R (@1 urE):

(1) In categorical syllogism when both the premises are universal and conclusion is
particular there is ......................... ,
frdg ~wregfim & w9 O omR @ W & ek fred siwamd @ o
..................... QY Bl & |

(i)  Conversionof .................... proposition is not valid.

..................... abared B uRacd dg T )

(i)  Of two proposition with same subject and predicate when one is universal
affirmative and other is particular negative then they are ............... to each
other.

T4 BT B TH &) Sied AR AN 8 ok 1o qoaey wdandt weRes 8 sk
A ferAndl TS @ S Th G D g
(iv)  Middle term must be ................ in syllogistic argument.
U% e Rigfed # weaw ug L B 2 |
"(v)  'SomeSisP'and NoSisP'are................. ..
TES,PE AN S NS, P AL & amua # ..o 2

(vi) In.oen. proposition subjective and predicate are distributed.
..................... qaared ¥ SR o Ry O e B #)

(vii)  The subject term in A proposition is always ........................

A TOTR FREA T .o ECHES

(a) Differentiate between the following (any two) : [4x2=8]

frrefeafea § 9 A (@1 Q). '

(1) A sentence and a proposition
CIER A

(i) A deductive and an inductive argument
RRERISE DI UEE Hu G

(i) Truth and validi*y.

R G IRCAGi

()
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Differentiate between contrary and contradictory relation. (5]
fomer e aandl Hey # iR qarsy | _

OR/a1erar

Explain the Existential Import.

| AT A @) ST B |

(a) Translate the following sentences into their standard logical form (any five): [5]
oo arql & Se AME WMidS AR # e HRN (@1 wrE):

(1) - Only children are innocent.
HIA JrAD Wl B & |

(i)  Every citizen is a voter.

URAP ARG AdeT © |

(iif)  Everyone cannot be a leader.

TG Afdd AT e} 99 g |

(iv)  Learned men are never fools.

T aff &0 A 5@ 9 8§

(v)  Scientists are never sinners.

Jsnfie w9 ot 7 ')

(vi) A few students are punctual.
7 T fonl TEhe B 81

If 'Some horses are not black' is TRUE, what can be said about the truth or falsity of
the following: '

3]
7y 3B O o1 B & O & o frefafed o) Wl Il JWTdl & SN F 1 FaET o FHar
&

(1) Some horses are black.

B O I B B
(i)  All horses are black.
wf) 91 Pt B 2 |
(i)  No horses are black.
e WS Pl T €
(¢) Give the conversion, obversion and the contraposition of the fdowing (any one); 5]
it @ aRady, gfiad qun sRuRads dR (@ w)
(1) No doctors are criminals.
a1g N Rifca el T Bl |
3
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(i)  All students are hardworking.

it faerf Jgd & €
(a) Determine the validity/invalidity of the following using the Venn diagra[xgl.x (;n=ylt(v;]'o)
forfomad 4 @ 5= 1 A duan /erduan &1 Ffvor 39 anely RS ¥ AR
() EIO-II
(i) OAA-III
(1)) AAA-I

OR/arerar

Determine the validity/invalidity of the following using the Method of Six Rules
(any two) [5x2=10]
frmferiea # @ 5=t < A Qe /e &1 FRor v Pl & AR § iRk

(1) Some actors are beautiful persons.
All beautiful persons are celebrities.
Therefore all celebrities are actors.
BB AT FR Al €
T g T uelee afad 2
3 Y wfaftea safea afmer 8

(if)  No roses are black blames.
All black flames are fragrant things.
Therefore all fragrant things are roses.
BIg T[T BIAT el TE e | *
o Bl e R Ty |
3 W gig IRy R 2|

(iif)  All American are successful persons.
Some rich persons are American.
Therefore some rich persons are not successful person.
o ) e At &)
6o O AR IR & ,
I o w fR wha afdd w8 8

Change the following argument into standard form categorical syllogism and indicate its
figure and mood. (any sne)

t 4
w@ﬁmwmmmﬁmmmmmm&%@
(@lg W@

!

0] Some philosophers are reformers, so, some idealist are reformers since all
philosophers ae idealist.

| A



(b)

6.

Frforien g st S/ e e R R @ v @ PeiRa AR (@ @)
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(i)  All saints are polite. No sinners are saints. Therefore no sinners are polite.

il H <A €| IS AUE Ha AL B | T B AW Tae T R

(a) Symbolize the following using the suggested notations (any five): [8]
fAfde el &1 i Fva g FfaRead & sdieer $ife: (@5 am)

i) It is false that if a person is a nomad, he cannot get citizenship. (N, C)
I 9 & & IR 1w afd @@mEee @ of 99 arRear 98 e wed |

(i)  Novelty can be discovered in art if and only if one is extremely intelligent and
committee. (N, I, C)

R R R e T Sap G
a1 ‘ :

(iii) A being has a kidney only if it has lungs. (K, L)
& Shg &1 el 81 @ daa IR 99 Bws BN 2

(iv)  Unless it rains, there will be shortage of water. (R, S) -
S d6 aut FE Erft o R

v) He ié poor but he is honest. (P, H)
a8 N9 & =g 98 TAMER 21

(vi)  Itis false that she goes to the market but not buy anything. (M, B)
I8 I € b 98 qoR i & feg 97 wdier T8 e |

(vii)  He is intelligent although not honest. (I, H)
8 gf&AH & Jufl SAMeR T8 |

Use truth table method to determine which of the following statement forms are
tautologous, contingent or contradictory: (any one) (S}

mwﬁﬁﬁmﬁﬁﬁaaﬂﬁq%ﬁﬁ%ﬁaﬁ%ﬁaﬁmmmm,%m
T B (P Ta):

B P> v@>dpl>o(peq)
(i) [po>@>n]e(pvy)

Use truth table to determine the validity/invalidity of the following argument forms
(any one): {5]

@ (P29
(q>r)
[ . (por)

5 | | P.T.O.
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(i) p>(q>r)
r>9
/7o (poT)
| OR/aar

Use the shorter truth-table method to determine the validity/invalidity of the following
(any one)

AR TG wRl Ry g1 fafafe & duar / sduar it @ ).

(i) ~[(pvg>ploq d
) [(pve)>r>@pvq) '

7. Explain and illustrate any two from the following informal fallacies. [5x2=10]
frfafaa et § 9 5l @ & emRe e S .

(1) Appeal to pity
EURHD TDHAIY

(i)  Complex Question
oo ge

(iii)  Fallacy of Accent
ERTET qdhary

(iv)  Begging the question
Theh '

-
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